LABJNDu6 triangle lightness T*
* =

T* Y=L w nc=100,
T*LaBanDus =[IN[A 1n+A2nVI/(A 20A0n)] (Ya/100<Y<=Yyo)
T*\(3,6)=146,T* ,(18)=332,T*,(90)=517 &
4
T*,=332,22 m,=264,66
L* =49, T* =332

Tro=517,21, A1 504, 10
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Yn=3.6  Yy=90

LABJINDu6
tristimulus value difference
Yoc=L*w - nc=100,
T*LaBINDus=[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn A=1,0, see CIE 230:2019
d¥95=0,80, Ay=1,500, ¢=1,00
dY;g=0,18, A =0,017, Agn 0,005¢,
dY36=0,05 Y,=18, dY;=0
T*,=332 dY,=0,18 dYu/Yu o mm !
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LABJINDuU6
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBINDus=[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y

(dY/Y=0,0089, Ay=1
(dY/Y)g=0,0101, A =0 ,Ag 0, 0
(dY/Y} 0,017 Yu=1& dY=0,18
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T*,=332 dY,=0,18 dY,/Y,=0, 010]1
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log (Y/AY)

YN=3.6  Yy=90

LABJINDu6
- tristimulus value contrast
C,=(Y/AY) Yol w - ne=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]
(Y/dYh=111,31, A,=1,500, ¢=1,00
(o]

il
(Y/dY)g=98,84, A=0,017, A,=0,0058
(Y/dy: ¢63 35 Y,=18, dY=0,18
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Iog(YldY):l 99 m,=0, 1§— o
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Yn=3,6 3 Yw=90

T LABJNDuG relative triangle lightness T*/T*,

THT* YocmL*w - nc=100,

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
T*\(3,6)=146,T* ,(18)=332,T*,(90)=517
T*odT*,=1,55, Apr=L,500, ¢=1,00
T 0,017, A,=0,0058
T* dT* =0, 43 T* =332,22 Y=1.

T*/T* =1, m;=0,79
L* =49, T*,=332 application
range

Y,=18

log(AY/AY,)

Yn=3.6  Yyw=90

LABJNDU6 relative
tristimulus value difference
INTNA Yoe=L*w - ne=100,
T*Laganbus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AY/dY,=AgnA 11+AanYI/dY,

dYeo/dY,=4,43, Ay=1,500, ¢=1,0

Y, ¢/dY,=1,00, A=0,017, Az =0, 0
dY3 4dY,=0,31 Y,~18 d\=0,18

T*,=332, dY,=0,18 dY_/Y,=0, (‘;(‘; 2

log [AYY) I (AYIY),]

LABJNDUS relative

tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

T*Laganbus =[IN[A 1p+A2nV)V(A 20A0n)] (Yd/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Y)g/(dY/Y)=0,88, Ay=1,500, ¢=1,00
(YY) g/(dY/Y=1,00. An=0.017, A,=0,0058
(dY/Y%i;(dY/YE 56 ¢1H_1& dy= 58

Iog[(dY/Y)l(dY/Y)J] 0, m=-0, 13 3
T+,=332 dY,=0,18 dY,/Y,=0,0101}
1y,=18

application
range

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJNDU6 relative

tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Ynd/100<Y<=Y,c)

(YVIAYY(YIAY), =Y IYIAY Y )TA oA g Agr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,500, ¢=1,00
(Y/dY)g/(Y/dY)=L.00. An=0.017, A,=0,0058
(Y/dnge/(Y/dY =0,64 Y,=18, dY=0.18
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